





L3B. 7

N owr T dx = ~dy

TT&Y = -l‘él)lc

Sc‘d(z

” (Zﬁl'_a‘zcjé—’) del T2, )= 0(%(})

(74 x) (= J;C(T )—JxF/I

— |
ete .

T (adx+ b;/ )= (-‘ad(xl-/—tlod(t'

E)("‘&—\-JL '—3 ; ﬁ‘T "{»0 CC',-.

TN © & C
jl—’-' ""I == e_!/q{u—f/t.— o Fe £ ¢
(vgr)"ﬂm g
:_é' )4{?- "F-J' +
ol A
2, A= fam —t
9=
ok Fdwtdy)= —oly+cAx /




LEB o

/.1«\6/\» a/c}clyq' ?M»(/%”FC i,

VAR el veclrr S P4
D Y ot | T = -1
defo e C~-sbee o, VY Ly

(¢ flv = ovEpPIV
/@’?'L(, scﬂl 4)0““-4'%{ s(tvlf'-f e, [ K

[ Sv - \\/ = élv. 1"@ vV (g \A..'Lc AL

I VO EC =2  exlechv, usen]
) \\/( C ¥ poe 3 -
Ve = V7oV~
5’2 'S /)'g
Ve =V @V

Azt > 7







S Lohiec LSB 10

’?C‘Cu—\ S K/%C_ < de‘.ﬁy\.fm_,‘/{

3 ‘:[ff't("

> A S, Yoo Coews/

—3_', x O [~ {;I—S

- depe)
d-’\[\.—/ c s N/\-q( 5)<ch)(¢);

/’\f/"}t Lo n~ge )l/‘.'c &Ze%«./[c N

Cﬂ\""{—l\"f“'l/( 5)[/-‘46 . 0[,'/\4;,/&;_ awg ‘

< e < r >/ "{4_/\/0 ,L\,w/,ﬂ/z/zlw)(.

Ca /L&/{\ g Lo Q\FM/L e?v\,.\-’u [f,{,ﬂ

~ /7 |

\ Sl 4
T . d oA U

<v v = A Lvw?

— N— AR '-‘w> — s WA >/
cos (X (v W)= —<=—— = —oron
> 7 Vv Y
J) - g 7164- )L( '5 Cav\_%e V€ [,,cl(m_;’)/
h- &'/0 £ e

— L —_

4




vl v
{v,/_j-v} an arte e bas.y
N\ 9
7> X7 X
~_ > 7 =5 7
Iy = Kx v Ve R

e
Aoheer: K= T M
7 A T A
p— | ]
[t P"’"llﬂola/,\/
n= K
3 = ClotAots—roA //




